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Форма текущего контроля в семестре – контрольная работа

Форма промежуточного контроля в семестре –1,2,3, семестр зачет/ 4 семестр экзамен

Краткое содержание курса
Раздел 1. Контрольная работа №1

Грамматика: Имя существительное. Понятие об артикле. Порядок слов в предложении. Глаголы to have и to be в Present, Future и Past Indefinite. Оборот there + to be. Числительные. Предлоги. Местоимение. Отрицание в английском предложении. Повелительное наклонение. Спряжение глаголов в Present Indefinite, Past Indefinite и Future Indefinite в активном залоге.
Раздел 2. Контрольная работа №2 

Грамматика: Спряжение глаголов во временах группы Indefinite, Continuous, Perfect активный залог. Пассивный. Модальные глаголы; эквиваленты модальных глаголов. Грамматические функции и значения слов that, one, it. Пассивный залог групп времен Indefinite, Continuous, Perfect. Функции слов to be, to have, to do. Простые неличные формы глагола.
Раздел 3. Контрольная работа №3 

Грамматика: Простые неличные формы глагола Participle I, Participle II в функциях определения и обстоятельства. Герундий. Определительные и дополнительные придаточные предложения; придаточные обстоятельственные предложения времени и условия. Интернациональные слова.
Раздел 4. Контрольная работа №4 

Грамматика: Инфинитив. Бессоюзное подчинение в определительных и дополнительных придаточных предложениях. Сложные формы инфинитива (Passive Infinitive, Perfect Infinitive). Обороты, равнозначные придаточным предложениям: объектный инфинитивные оборот, субъектный инфинитивный оборот. Причастия (Participle I, II). Независимый причастный оборот. Условные предложения.
Форма текущего контроля

МЕТОДИЧЕСКИЕ  УКАЗАНИЯ
Особенностью овладения иностранным языком при заочном обучении является то, что объем самостоятельной работы студента по выработке речевых навыков и умений значительно превышает объем практических аудиторных занятий с преподавателем. Соотношение аудиторных и самостоятельных часов, отводимых на полный курс обучения равно 40 ч.: 240 ч. Таким образом, каждому аудиторному двухчасовому занятию должно предшествовать не менее шести часов самостоятельной работы студента.
Самостоятельная работа студента по изучению иностранного языка охватывает: заучивание слов английского языка, уяснение действия правил словообразования, грамматических правил, чтение текстов на английском языке вслух в соответствии с правилами чтения, понимание текстов, слушание текстов, записанных на магнитофонной ленте, с тем, чтобы научиться правильно произносить и пониматъ на слух содержание сообщения; построение вопросов и ответов к текстам; перевод на русский язык (устный и письменный).
ВЫПОЛНЕНИЕ КОНТРОЛЬНЫХ ЗАДАНИЙ И ОФОРМЛЕНИЕ КОНТРОЛЬНЫХ РАБОТ
1. Количество контрольных работ, выполняемых вами на каждом курсе, устанавливается учебным планом. 
2. Каждое контрольное задание предлагается в пяти вариантах. Вы должны выполнить один из пяти вариантов в соответствии с последними цифрами в номере зачётной книжки: 
студенты, номер зачётки которых оканчивается на 1 или 2, выполняют вариант № 1; на 3 или 4 - № 2; на 5 или 6 - № 3; на 7 или 8 - № 4; на 9 или 0 - № 5
3. Выполнять письменные контрольные работы следует в отдельной тетради. На обложке тетради напишите свою фамилию, номер контрольной работы и название учебника, по которому вы занимаетесь.
4. Контрольные работы должны выполняться чернилами, аккуратно, четким почерком. При выполнении контрольной работы оставляйте в тетради широкие поля для замечаний, объяснений и методических указаний рецензента.
Материал контрольной работы следует располагать в тетради по следующему образцу:
	Левая страница
	Правая страница

	Поля
	Английский текст
	Русский текст
	Поля


5. Контрольные работы должны быть выполнены в той последовательности, в которой они даны в настоящем пособии.
6. В каждом контрольном задании выделяется один или два абзаца для проверки умения читать без словаря, понимать основную мысль, изложенную в абзаце. После текста дается контрольный вопрос, с помощью которого проверяется, насколько правильно и точно вы поняли мысль, изложенную в абзаце (или абзацах). Ниже предлагается несколько вариантов ответа. Среди этих вариантов необходимо найти тот, который наиболее правильно и четко отвечает на поставленный вопрос.
7. Выполненные контрольные работы направляйте для проверки и рецензирования в институт в установленные сроки.
8. Если контрольная работа выполнена без соблюдения указаний или не полностью, она возвращается без проверки.
ИСПРАВЛЕНИЕ РАБОТЫ НА ОСНОВЕ РЕЦЕНЗИЙ
1. При получении от преподавателя проверенной контрольной работы внимательно прочитайте рецензию, ознакомьтесь с замечаниями рецензента и проанализируйте отмеченные в работе ошибки.
2. Руководствуясь указаниями рецензента, проработайте еще раз учебный материал. Все предложения, в которых были обнаружены орфографические и грамматические ошибки или неточности перевода, перепишите начисто в исправленном виде в конце данной контрольной работы.
3. Только после того, как будут выполнены все указания рецензента и исправлены все ошибки, можно приступить к изучению материала очередного контрольного задания и его выполнению.
4. Отрецензированные контрольные работы являются учебными документами, которые необходимо сохранять; помните о том, что во время зачета или экзамена производится проверка усвоения материала, вошедшею в контрольные работы.
ПОДГОТОВКА К ЗАЧЕТАМ И ЭКЗАМЕНАМ
В процессе подготовки к зачетам и экзаменам рекомендуется: а) повторно прочитать и перевести наиболее трудные тексты из учебника; б) просмотреть материал отрецензированных контрольных работ; в) проделать, выборочно отдельные упражнения из учебника для самопроверки; г) повторить материал для устных упражнений. 
КОНТРОЛЬНЫЕ ЗАДАНИЯ

Контрольное задание 1

Для того чтобы правильно выполнить задание 1, необходимо усвоить следующие разделы курса.

1. Имя существительное. Множественное число. Артикли и предлоги как показатели имени существительного. Выражения падежных отношений в английском языке и окончания –s. Существительное в функции определения и его перевод не русский язык.

2. Имя прилагательное. Степени сравнения имен прилагательных. Конструкции типа the more … the less.

3. Числительные.
4. Местоимения: личные, притяжательные, вопросительные, вопросительные, указательные, неопределенные и отрицательные.
5. Форма настоящего (Present), прошедшего (Past) и будущего (Future) времени группы Indefinite действительного залога изъявительного наклонения. Спряжение глаголов to be, to have в Present Past и Future Indefinite. Повелительное наклонение и его отрицательная форма.

6. Простое распространенное предложение: прямой порядок слов повествовательного и побудительного предложений в утвердительной и отрицательной формах; обратный порядок слов вопросительного предложения. Оборот there is (are).
7. Основные случаи словообразования.

Используйте следующие образцы выполнения упражнений.

ОБРАЗЕЦ ВЫПОЛНЕНИЯ 1 (К упр.1)

Грамматическая функция окончания –s

1. The student attended lectures                       Студенты посещают лекции и 

and seminars от the History                               семинары по истории


Lectures - множественное число от имени существительного a lecture лекция 

2. He lectures on economy.                                Он читает лекции по экономике.


Lectures – 3-е лицо единственного числа от глагола to lecture в Present Indefinite 

3. My brother’s son is a student                         Сын моего брата студент.

В слове brother’s ‘s – окончание притяжательного падежа имени существительного в единственном числе.

My brothers’ sons are students.                          Сыновья моих братьев студенты.

Слово brothers’ – форма притяжательного падежа имени существительного a brother во множественном числе.

ОБРАЗЕЦ ВЫПОЛНЕНИЯ 2 (К упр.II)

Особенности перевода на русский язык английских имен существительных, употребляющихся в функции определения, стоящего перед определяемым словом.

1. The scientist works at some                           Этот ученый работает над неко-

problems of low temperature                             торыми проблемами физики 

physics.                                                                 низких температур.
2. This girl studies at the Patris                                Эта девушка учится в универ-

Lumumba Friendship University.                            ситете Дружбы народов име-

                                                                                 ни Патриса Лумумбы.

ОБРАЗЕЦ ВЫПОЛНЕНИЯ 3 (К упр.III)

Lomonosov founded the first                                Ломоносов основал первый 

Russian University in Moscow.                             русский университет в Москве.

Founded – Past Indefinite Active от стандартного глагола to found.
Вариант 1

I. Перепишите предложения. Определите по грамматическим признакам, какой частью речи являются слова, оформленные окончанием –s  и какую функцию это окончание выполняет, т.е. служит ли оно:

· показателем 3-го лица единственного числа глагола в Present Indefinite;

· признаком множественного числа имени существительного;

· Показателем притяжательного падежа имени существительного.

1. Не works as an engineer.

2. A surface has two dimensions: length and breadth.

3. This young woman is my friend’s sister.

II. Перепишите следующие предложения, содержащие разные формы сравнения и переведите их на русский язык.

1. BASIC is one of the easiest programming languages.

2. Logical operations are as reasonable as mathematical ones.

3. The more complex the apparatus is the more reliable it is.

III. Перепишите следующие предложения, определите в них видо-временные формы глаголов и укажите их инфинитив; переведите предложения на русский язык

1. The central processing unit carries out a variety of computations, numeric comparisons.

2. The object code programs created for these processors.

3. We will discuss the design philosophy behind the PC family.

IV. Перепишите следующие предложения, вместо пропусков вставьте нужный модальный глагол или его эквивалент; переведите предложения на русский язык.

1. We ... cancel the meeting. The proposals are not ready yet.

a) may
b) can            c) have to
2. Sorry I won't be in Moscow at that time. I ... go to Minsk. My parents will celebrate their fortieth wedding anniversary.

     a) must
b) need to          c) may
3. You ... thank them. They have done so much for you.

a) can
b) may             c) ought to

4. The shop was losing money, so they ... close down.

a) must
b) had to               c) could
V. Прочитайте перепишите и письменно переведите на русский язык текст. 

My future profession

Computer industry is developing so fast, that it comprises almost all spheres of professional life. No business now is possible without computers. This is especially true about automated manufacturing of products and robotics. Computer control of automated production opens new horizons for the cheap and quality production of goods. Information is now generated, transmitted, received, and stored electronically through computer networks on a scale unprecedented in history, and there is every indication that the explosive rate of growth in this field will continue.
Computer engineering is a general field. It deals with both electric and electronic industries.
Electronic engineering deals with the research, design, integration, and application of circuits and devices used in the transmission and processing of information.
Engineers in the field of electric and electronic engineering are concerned with all aspects of electrical communications, such as the design of telephone systems. In designing communication systems, engineers rely on various branches of advanced mathematics. Engineers work on control systems which are used extensively in automated manufacturing and in robotics.
Major developments in the field of communications and control have been the replacement of analogue systems with digital systems; fibre optics is used now instead of copper cables. Digital systems offer far greater immunity to electrical noise. Fibre optics is likewise immune to interference; they also have great carrying capacity, and are extremely light and inexpensive to manufacture.
Computer engineering is now the most rapidly growing field. The electronics of computers is the design and manufacture of memory systems, of central processing units, and of peripheral devices. The most prospective industry now is the Very Large Scale Integration (VLSI) and new computer architectures. The field of computer science is closely related to computer engineering; however, the task of making computers more «intelligent» (artificial intelligence), through creation of sophisticated programs or development of higher level machine languages or other means, is generally regarded as the dream of computer science.
One current trend in computer engineering is microminiaturization. Engineers continue to work to fit greater and greater numbers of circuit elements onto smaller and smaller chips.
Another trend is towards increasing the speed of computer operations through the use of parallel processors and superconducting materials.
Вариант 2

I. Перепишите предложения. Определите по грамматическим признакам, какой частью речи являются слова, оформленные окончанием –s  и какую функцию это окончание выполняет, т.е. служит ли оно:

· показателем 3-го лица единственного числа глагола в Present Indefinite;

· признаком множественного числа имени существительного;

Показателем притяжательного падежа имени существительного.

1. These are the famous scientist’s inventions.

2. These lines are short.

3. This program works properly.

II. Перепишите следующие предложения, содержащие разные формы сравнения и переведите их на русский язык.

1. ARJ is much more efficient with larger documents.

2. The smaller the computer the faster it operates.

3. The old method is not so efficient as the new one but less expensive.

III. Перепишите следующие предложения, определите в них видо-временные формы глаголов и укажите их инфинитив; переведите предложения на русский язык

1. The microprocessor refers data in response to programs.

2. The 8086 processors introduced IA segmentation.

3. In future computers will understand human language.

IV. Перепишите следующие предложения, вместо пропусков вставьте нужный модальный глагол или его эквивалент; переведите предложения на русский язык.

1. You ... exercise every day to keep fit.

a) can
b) may           c) must
2. He is overworking. He really... go to bed earlier.

a) may
b) can              c) should
3. I have a splitting headache. I... take an aspirin.

a) may
b) can               c) must
4. I know you ... do the job because you have knowledge and experience.

a) can
b) may              c) have to
V. Прочитайте перепишите и письменно переведите на русский язык текст. 

WHAT IS A COMPUTER?
The term computer is used to describe a device made up of a combination of electronic and electromechanical (part electronic and part mechanical) components. Computer has no intelligence by itself and is referred to as hardware. A computer system is a combination of five elements:
•   Hardware
•   Software
•   People
•   Procedures
•   Data/information
When one computer system is set up to communicate with another computer system, connectivity becomes the sixth system element. In other words, the manner in which the various individual systems are connected — for example, by phone lines, microwave transmission, or satellite — is an element of the total computer system.
Software is the term used to describe the instructions that tell the hardware how to perform a task. Without software instructions, the hardware doesn't know what to do. People, however, are the most important component of the computer system: they create the computer software instructions and respond to the procedures that those instructions present.
The basic job of the computer is the processing of information. Computers accept information in the form of instruction called a program and characters called data to perform mathematical and logical operations, and then give the results. The data is raw material while information is organized, processed, refined and useful for decision making. Computer is used to convert data into information. Computer is also used to store information in the digital form. What is hardware? Webster's dictionary gives us the following definition of the hardware — the mechanical, magnetic, electronic, and electrical devices composing a computer system.
Computer hardware can be divided into four categories:
1) input hardware
2) processing hardware
3) storage hardware
4) output hardware.
Input hardware
The purpose of the input hardware is to collect data and convert it into a form suitable for computer processing. The most common input device is a keyboard. It looks very much like a typewriter. The mouse is a hand held device connected to the computer by small cable. As the mouse is rolled across the mouse pad, the cursor moves across the screen. When the cursor reaches the desired location, the user usually pushes a button on the mouse once or twice to signal a menu selection or a command to the computer.
The light pen uses a light sensitive photoelectric cell to signal screen position to the computer. Another type of input hardware is optic-electronic scanner that is used to input graphics as well as typeset characters. Microphone and video camera can be also used to input data into the computer. Electronic cameras are becoming very popular among the consumers for their relatively low price and convenience.
Вариант 3

I. Перепишите предложения. Определите по грамматическим признакам, какой частью речи являются слова, оформленные окончанием –s  и какую функцию это окончание выполняет, т.е. служит ли оно:

· показателем 3-го лица единственного числа глагола в Present Indefinite;

· признаком множественного числа имени существительного;

Показателем притяжательного падежа имени существительного.

1. The flowers are beautiful.

2. Winter begins in December.

3. This is Ann’s book, I don’t like such books.

II. Перепишите следующие предложения, содержащие разные формы сравнения и переведите их на русский язык.

1. The old computers were less efficient than the modern ones.

2. Henry is more and more satisfied with his job.

3. The capabilities of an analog computer are not so great as those of an digital one.

III. Перепишите следующие предложения, определите в них видо-временные формы глаголов и укажите их инфинитив; переведите предложения на русский язык

1. The central processing unit controls the computer’s basic operations.

2. In 1969 Intel designed the first microprocessor.

3.  Computer of the future will use biological functions of plants and animals.

IV. Перепишите следующие предложения, вместо пропусков вставьте нужный модальный глагол или его эквивалент; переведите предложения на русский язык.

1. We told him he ... go home.
a) could
b) may              c) can
2.You ... drive carefully, it's foggy today.
a) can
b) could             c) should

3 .Times are hard but I... survive.
a) may
b) ought to         c) must

4. .... you travel to the UK without a visa?
a) should         b) must
c) can

V. Прочитайте перепишите и письменно переведите на русский язык текст

WHAT IS A COMPUTER?
Processing hardware. The purpose of processing hardware is retrieve, interpret and direct the execution of software instructions provided to the computer. The most common components of processing hardware are the Central Processing Unit and main memory.
The Central Processing Unit (CPU) is the brain of the computer. It reads and interprets software instructions and coordinates the processing activities that must take place. The design of the CPU affects the processing power and the speed of the computer, as well as the amount of main memory it can use effectively. With a well-designed CPU in your computer, you can perform highly sophisticated tasks in a very short time.
Memory is the system of component of the computer in which information is stored. There are two types of computer memory: RAM and ROM.
RAM (random access memory) is the volatile computer memory, used for creating loading, and running programs and for manipulating and temporarily storing data; 
ROM (read only memory) is nonvolatile, non-modifiable computer memory, used to hold programmed instructions to the system. The more memory you have in your computer, the more operations you can perform.
Storage hardware
The purpose of storage hardware is to store computer instructions and data in a form that is relatively permanent and retrieve when needed for processing. Storage hardware serves the same basic functions as do office filing systems except that it stores data as electromagnetic signals. The most common ways of storing data are Hard disk, floppy disk and CD-ROM.
Hard disk is a rigid disk coated with magnetic material, for storing programs and relatively large amounts of data.
Floppy disk (diskette) — thin, usually flexible plastic disk coated with magnetic material, for storing computer data and programs. There are two formats for floppy disks: 5.25" and 3.5". 5.25" is not used in modern computer systems because of it relatively large size, flexibility and small capacity. 3.5" disks are formatted 1.4 megabytes and are widely used.
CD-ROM (compact disc read only memory) is a compact disc on which a large amount of digitized read-only data can be stored. CD-ROMs are very popular now because of the growing speed which CD-ROM drives can provide nowadays.
Output hardware. The purpose of output hardware is to provide the user with the means to view information produced by the computer system. Information is output in either hardcopy or softcopy form. Hardcopy output can be held in your hand, such as paper with text (word or numbers) or graphics printed on it. Softcopy output is displayed on a monitor.
Monitor is a component with a display screen for viewing computer data, television programs, etc.
Printer is a computer output device that produces a paper copy of data or graphics.
Modem is an example of communication hardware — an electronic device that makes possible the transmission of data to or from computer via telephone or other communication lines.
Hardware comes in many configurations, depending on what the computer system is designed to do. Hardware can fill several floors of a large office building or can fit on your lap.

Вариант 4

I. Перепишите предложения. Определите по грамматическим признакам, какой частью речи являются слова, оформленные окончанием –s  и какую функцию это окончание выполняет, т.е. служит ли оно:

· показателем 3-го лица единственного числа глагола в Present Indefinite;

· признаком множественного числа имени существительного;

Показателем притяжательного падежа имени существительного.

1. Mr. Black says that Geometry is an important subject for students.

2. These disks are hard.

3. The wild animals’ life.

II. Перепишите следующие предложения, содержащие разные формы сравнения и переведите их на русский язык.

1. ARJ is the best in compression.

2. The material of the textbook becomes less and less difficult.

3. What is the best way to compile a program?

III. Перепишите следующие предложения, определите в них видо-временные формы глаголов и укажите их инфинитив; переведите предложения на русский язык

1. Data passes through input/output ports.

2. The Pentium ® II processor added MMXTM instructions to the Pentium ® Pro processor architecture.

3. Each new generation of computer will open new possibilities for basic and applied research.

IV. Перепишите следующие предложения, вместо пропусков вставьте нужный модальный глагол или его эквивалент; переведите предложения на русский язык.

1. She ... visit her parents more often.
a) may
b) should             c) needs to

2. The child …not part with his old teddy bear.
a) shall
b) can                   c) may
3. — Must I work this weekend? — No, you ....

a) mustn't        b) can't
c) needn't

4. It is difficult to work with her. Sometimes she ... be very hard to deal with.

a) can
b) must                 c) have to
V. Прочитайте перепишите и письменно переведите на русский язык текст

Hardware

A computer to complete a job requires more than just the actual equipment or hardware we see and touch. It requires Software — programs for directing the operation of a computer or electronic data.
Software is the final computer system component. These computer programs instruct the hardware how to conduct processing. The computer is merely a general -purpose machine which requires specific software to perform a given task. Computers can input, calculate, compare, and output data as information. Software determines the order in which these operations are performed.
Programs usually fall in one of two categories: system software and applications software. System software controls standard internal computer activities. An operating system, for example, is a collection of system programs that aid in the operation of a computer regardless of the application software being used. When a computer is first turned on, one of the systems programs is booted or loaded into the computers memory. This software contains information about memory capacity, the model of the processor, the disk drives to be used, and more. Once the system software is loaded, the applications software can be brought in.
System programs are designed for the specific pieces of hardware. These programs are called drivers and coordinate peripheral hardware and computer activities. User needs to install a specific driver in order to activate a peripheral device. For example, if you intend to buy a printer or a scanner you need to worry in advance about the driver program which, though, commonly goes along with your device. By installing the driver you «teach» your mainboard to «understand» the newly attached part.
Applications software satisfies your specific need. The developers of application software rely mostly on marketing research strategies trying to do their best to attract more users (buyers) to their software. As the productivity of the hardware has increased greatly in recent years, the programmers nowadays tend to include as much as possible in one program to make software interface look more attractive to the user. These class of programs is the most numerous and perspective from the marketing point of view.
Data communication within and between computers systems is handled by system software. Communications software transfers data from one computer system to another. These programs usually provide users with data security and error checking along with physically transferring data between the two computer's memories
Вариант 5

I. Перепишите предложения. Определите по грамматическим признакам, какой частью речи являются слова, оформленные окончанием –s  и какую функцию это окончание выполняет, т.е. служит ли оно:

· показателем 3-го лица единственного числа глагола в Present Indefinite;

· признаком множественного числа имени существительного;

Показателем притяжательного падежа имени существительного.
1. In summer the sky is blue and the sun shines brightly.

2. Those programs are of the same type.

3. My brother’s children are at home.

II. Перепишите следующие предложения, содержащие разные формы сравнения и переведите их на русский язык.

1. ARJ compresses a little better than ARJ 7.00.

2. The more you read the more you learn.

3. Much less details are necessary for the new model.

III. Перепишите следующие предложения, определите в них видо-временные формы глаголов и укажите их инфинитив; переведите предложения на русский язык

1. The input/output ports connect the various memory and support chips to the bus.

2. We will point out the similarities and differences between the different microprocessors.

3. Not long ago computers were not very reliable and comparatively slow in operation.

IV. Перепишите следующие предложения, вместо пропусков вставьте нужный модальный глагол или его эквивалент; переведите предложения на русский язык.

1. Jack... look for another job in a month. His position was cut back (coкращена).

a) can
b) have to            c) must
2.   ... I park my car here? — No, you (...). It is a no parking zone.

a) can
b) may                 c) shall
3. Simon borrowed $2,000 for a year; the year is almost over and he ... pay it back.

a) have to
b) can                   c) may
4. I hate to say that but I... cancel the meeting. The proposals are not ready yet.

a) have to            b) must
c) need
V. Прочитайте перепишите и письменно переведите на русский язык текст

Operating Systems

When computers were first introduced in the 1940's and 50's, every program written had to provide instructions that told the computer how to use devices such as the printer, how to store information on a disk, as well as how to perform several other tasks not necessarily related to the program. The additional program instructions for working with hardware devices were very complex, and time-consuming. Programmers soon realized it would be smarter to develop one program that could control the computer's hardware, which others programs could have used when they needed it. With that, the first operating system was born.
Today, operating systems control and manage the use of hardware devices such as the printer or mouse. They also provide disk management by letting you store information in files. The operating system also lets you run programs such as the basic word processor. Lastly, the operating system provides several of its own commands that help you to use the computer. DOS is the most commonly used PC operating system. DOS is an abbreviation for disk operating system. DOS was developed by a company named Microsoft. MS-DOS is an abbreviation for «Microsoft DOS». When IBM first released the IBM PC in 1981, IBM licensed DOS from Microsoft for use on the PC and called it PC-DOS. From the users’ perspective, PC-DOS and MS-DOS are the same, each providing the same capabilities and commands.
The version of DOS release in 1981 was 1.0. Over the past decade, DOS has undergone several changes. Each time the DOS developers release a new version, they increase the version number.
Windows NT (new technology) is an operating system developed by Microsoft. NT is an enhanced version of the popular Microsoft Windows 3.0, 3.1 programs. NT requires a 386 processor or greater and 8 Mb of RAM. For the best NT performance, you have to use a 486 processor with about 16 Mb or higher. Unlike the Windows, which runs on top of DOS, Windows NT is an operating system itself. However, NT is DOS compatible. The advantage of using NT over Windows is that NT makes better use of the PC's memory management capabilities.
OS/2 is a PC operating system created by IBM. Like NT, OS/2 is DOS compatible and provides a graphical user interface that lets you run programs with a click of a mouse. Also like NT, OS/2 performs best when you are using a powerful system. Many IBM-based PCs are shipped with OS/2 preinstalled.
UNIX is a multi-user operating system that allows multiple users to access the system. UNIX allowed each user to simultaneously run the programs they desired. Unlike NT and OS/2, UNIX is not DOS compatible. Most users would not purchase UNIX for their own use.
Windows 95 & 98 (Windows 2000) is the most popular user-oriented operating systems with a friendly interface and multitasking capabilities. The usage of Windows 95 and its enhanced version Windows 98 is so simple that even little kids learn how to use it very quickly. Windows 95 and 98 are DOS compatible, so all programs written for DOS may work under the new operating system.
Windows 95 requires 486 processor with 16 megabytes of RAM or Pentium 75-90 with 40 megabytes of free hard disk space. Windows 95 is a new operational system with an easy interface based on the expanding windows principle which uses icons to graphically represent files and their types.
Контрольная задание № 2
Для того, чтобы правильно выполнить задание 2, необходимо усвоить следующие разделы курса английского языка по рекомендованному учебнику:

1. Видо-временные формы глагола: а) активный залог – формы Indefinite (Present, Past, Future); формы Continuous (Present, Past, Future); формы Perfect (Present, Past, Future); б) пассивный залог – формы Indefinite (Present, Past, Future).

2. Особенности перевода пассивных конструкций на русский язык.

3. Модальные глаголы: а) выражающие возможность: can (could), may и эквивалент глагола сan – to be able; б) выражающие долженствование must, его эквиваленты to have to , to be to; should.
4.  Простые неличные формы глагола: Participle I (Present Participle), Participle II (Past Participle) в функциях определения и обстоятельства. Gerund – герундий, простые формы.

5. Определительные и дополнительные придаточные предложения (союзные); придаточные обстоятельственные предложения времени и условия.

6. Интернациональные слова


Используйте следующие образцы выполнения упражнений:

ОБРАЗЕЦ ВЫПОЛНЕНИЯ 1 (К УПР. 1)

а) Lobachevsky’s geometry had                              Геометрия Лобачевского про-

revolutionized mathematics and                          извела коренное изменение в ма-

philosophy of science.                                           тематике и философии науки.

had revolutionized – Past perfect Active от глагола to revolutionize

б) The new laboratory equipment                          Вчера послали за новым обору-

was sent for yesterday.                                         дованием лаборатории.

was sent for – Past Indefinite Passive от глагола to send

ОБРАЗЕЦ ВЫПОЛНЕНИЯ 1 (К УПР. II)
1. The changes affecting the                                Изменения, влияющие на состав
composition of materials are                                материалов, называются хими-

called chemical changes.                                      ческими изменениями.

affecting - Participle I, определение 

2. When heated to the boiling                              Когда воду нагревают до точки
point water evaporates.                                    кипения, она испаряется (или: При 

                                                                         нагревании до точки кипения вода 

                                                                         испаряется).

(When) heated – Participle II, обстоятельство

3. Heat is radiated by the Sun to the              Тепло излучается Солнцем на Зем-

Earth.                                                                лю. 

radiated – Participle II, составная часть видо-временной формы Present Indefinite Passive oт глагола to radiate.

Вариант 1

I. Перепишите следующие предложения; подчеркните в каждом из них глагол- сказуемое и определите его видо-временную форму и залог. Переведите предложения на русский язык. Переведите предложения на русский язык. Обратите внимание на перевод пассивных конструкций.

1. Radio, electronics and television have already found great application in industry, transport and medicine.

2. The water in the tube is boiling

3. The information about these conditions was being studied by our group for a week.

4. The young specialists were offered to concentrate their efforts on the construction of bridges.

5. The engineers will be asked to make an experimental model of the device.

II. Перепишите следующие предложения; подчеркните Participle I и Participle II и установите функции каждого из них, т.е. укажите является ли оно определением, обстоятельством или частью сказуемого. Переведите предложения на русский язык.

1. London is not only the centre of commerce and finance but also a great port with many of the imported and exported goods passing through it.

2. Arranging all the existing elements in the Table Mendeleev overcame great difficulties, as a considerable number of elements were unknown at that time.

3. The results of the experiment made in our laboratory were good.

4. Much coal is consumed by the power station.

III. Перепишите следующие предложения; подчеркните в каждом из них модальный глагол или его эквивалент. Переведите предложения на русский язык.

1. We must use new methods in our research work.

2. The students were unable to work without their teacher’s help.

3. Every technical student is to study mathematics for some years.

4. He had to work hard to improve his project.

VI. Прочитайте перепишите и письменно переведите на русский язык текст.
Windows 95
Windows 95 is a new operational system with an easy interface based on the expanding windows principle which uses icons to graphically represent files and their types.
Windows 95 makes the way you and your computer interact easy. Most everyday tasks are now easier to accomplish than ever before. For example, the second mouse button has become a powerful weapon. The old Windows 3.0 Program Manager and File Manager have been replaced. The desktop tools that replace them are very like those found on a Macintosh. For example, there is a Recycle Bin that makes it easier to recover accidentally deleted files.
Your computer probably will crash less running Windows 95 than it did with Windows 3.1 and 3.0 or even DOS. Most memory related problems have been removed. Built-in networking features make it easy to reliably share files with co-workers across the room or across the world. And MS-DOS as we know it is so well hidden that you'll rarely give it a thought. Yes, you can still run DOS programs and older Windows applications but most users will probably want to spend most of their time using Windows 95 applications instead.
Microsoft says that it is moving forward to the time when we'll all think more about our data and less about the specific name-brand programs used to create them.
Window 95 plug-and-play capability makes it easy to upgrade your computer hardware. And portable computer users will like what Microsoft has done to make their lives calmer.
A new Windows shortcuts capability makes it easy to reach frequently used files and other necessities. A new Find feature helps you to locate and examine the contents of files in a flash.
Most of this is accomplished without sacrificing performance. In fact, many things (like printing) usually happen faster now, due to 32-bit support and other Windows 95 advancements.
The usage of Windows 95 and its enhanced version Windows 98 is so simple that even little kids learn how to use it very quickly. Windows 95 and 98 are DOS compatible, so all programs written for DOS may work under the new operating system.
Вариант 2
I. Перепишите следующие предложения; подчеркните в каждом из них глагол- сказуемое и определите его видо-временную форму и залог. Переведите предложения на русский язык. Переведите предложения на русский язык. Обратите внимание на перевод пассивных конструкций.

1. The scientist made lots of experiments.

2. We shall have done our work by 6 o’clock.

3. One of the machine-tool is being worked at in our country.

4. We were shown a new allow which will be used in modern technology.

5. The original design of the round conveyer was already referred to in some journals.

II. Перепишите следующие предложения; подчеркните Participle I и Participle II и установите функции каждого из них, т.е. укажите является ли оно определением, обстоятельством или частью сказуемого. Переведите предложения на русский
1. Entering or leaving the room with ladies don’t rush before them.

2. The assistant was preparing the solution very carefully.

3. The data required were analyzed in our laboratory.

4. Heated glass is plastic.

III. Перепишите следующие предложения; подчеркните в каждом из них модальный глагол или его эквивалент. Переведите предложения на русский язык.

1. Due to the energy of the atom man can produce electric energy at atomic power stations.

2. You needn’t take all these measurements, we already know the result.

3. Physicists have to place the atom completely at the service of man.

4. The students are to be at the laboratory at 8 o’clock.

VI. Прочитайте перепишите и письменно переведите на русский язык текст.

Introduction to the WWW and Internet.
Millions of people around the world use the Internet to search for and retrieve information on all sorts of topics in a wide variety of areas including the arts, business, government, humanities, news, politics and recreation. People communicate through electronic mail (e-mail), discussion groups, chat channels and other means of informational exchange. They share information and make commercial and business transactions. All this activity is possible because tens of thousands of networks are connected to the Internet and exchange information in the same basic ways.
The World Wide Web (WWW) is a part of the Internet. But it's not a collection of networks. Rather, it is information that is connected or linked together like a web. You access this information through one interface or tool called a Web browser. The number of resources and services that are part of the World Wide Web is growing extremely fast. In 1996 there were more than 20 million users of the WWW, and more than half the information that is transferred across the Internet is accessed through the WWW. By using a computer terminal (hardware) connected to a network that is a part of the Internet, and by using a program (software) to browse or retrieve information that is a part of the World Wide Web, the people connected to the Internet and World Wide Web through the local providers have access to a variety of information. Each browser provides a graphical interface. You move from place to place, from site to site on the Web by using a mouse to click on a portion of text, icon or region of a map. These items are called hyperlinks or links. Each link you select represents a document, an image, a video clip or an audio file somewhere on the Internet. The user doesn't need to know where it is, the browser follows the link.
All sorts of things are available on the WWW. One can use Internet for recreational purposes. Many TV and radio stations broadcast live on the WWW. Essentially, if something can be put into digital format and stored in a computer, then it's available on the WWW. You can even visit museums, gardens, cities throughout the world, learn foreign languages and meet new friends. And, of course, you can play computer games through WWW, competing with partners from other countries and continents.
Just a little bit of exploring the World Wide Web will show you what a lot of use and fun it is.
Вариант 3
I. Перепишите следующие предложения; подчеркните в каждом из них глагол- сказуемое и определите его видо-временную форму и залог. Переведите предложения на русский язык. Переведите предложения на русский язык. Обратите внимание на перевод пассивных конструкций.

1. The laboratory assistant was writing down all the data during our experiment.

2. By the end of the last century scientists had made the first attempts to obtain new material.

3. Now solar energy and its usage are being studied by a lot of research groups.

4. The machine-tool was mounted on a special work-bench.

5. The model of the device will be worked at in the plant laboratory.

II. Перепишите следующие предложения; подчеркните Participle I и Participle II и установите функции каждого из них, т.е. укажите является ли оно определением, обстоятельством или частью сказуемого. Переведите предложения на русский
1. We need devices improving the accuracy of measurements.

2. While burning different substances combine with oxygen.

3. Some heat resistant types of glasses can be heated until they are red and do not break if then placed into ice water.

4. The boiling solution has neither colour nor ordour.

III. Перепишите следующие предложения; подчеркните в каждом из них модальный глагол или его эквивалент. Переведите предложения на русский язык.
1. You may use this instrument for measuring the pressure.

2. This power station was to supply us with all necessary energy.

3. The lecture is to begin at 9 o’clock.

4. We ought to come in time.

VI. Прочитайте перепишите и письменно переведите на русский язык текст.

Computers
Computer is an electronic device that can receive a program (a set of instructions) and then carry out this program by calculating numerical information.
The modern world of high technology is possible mainly due to the development of the computer. Computers have opened up a new era in manufacturing by means of automation, and they have enhanced modern communication systems.
Personal computers are also called microcomputers or home computer. The most compact are called laptops. They are portable and work on built-in batteries.
Personal computers are designed for use at homes, schools, and offices. At home they can be used for home management (balancing the family finances, for example) and for playing computer games, watching films or listening to music. Schoolchildren can use computers for doing their homework and many schools now have computers for independent learning and computer-literacy studies. In the office personal computers may be used for word processing, bookkeeping, storage and handling of necessary information.
Personal computers were made possible by two technical innovations in the field of microelectronics: the integrated circuit, or 1C, which was developed in 1959 and the microprocessor that first appeared in 1971. The1C permitted the miniaturization of computer-memory circuits, and the microprocessor reduced the size of a computer's CPU to the size of a single silicon chip.
Because a CPU calculates, performs logical opera​tions, contains operating instructions, and manages data flows, a complete microcomputer as a separate system was designed and developed in 1974.
In 1981, IBM Company offered its own microcomputer model, the IBM PC that became a necessary tool for almost every business. The PC's use of a 16-bit microproc​essor initiated the development of faster and more powerful personal computers, and its use of an operating system that was available to all other computer makers led to a standardization of the industry.
In the mid-1980s, a number of other developments were especially important for the growth of personal computers. One of these was the introduction of a powerful 32-bit CPU capable of running advanced operating systems at high speeds.
Another innovation was the use of conventional operating systems, such as UNIX, OS/2 and Windows. The Apple Macintosh computers were the first to allow the user to select icons — graphic symbols of computer functions — from a display screen instead of typing commands. New voice-controlled systems are now available, and users are able to use the words and syntax of spoken language to operate their personal computers.
Вариант 4
I. Перепишите следующие предложения; подчеркните в каждом из них глагол- сказуемое и определите его видо-временную форму и залог. Переведите предложения на русский язык. Переведите предложения на русский язык. Обратите внимание на перевод пассивных конструкций.

1. Our country has made great achievements in all fields of industry, technology and science.

2. From time to time the laboratory assistant looks up at the solution which is boiling on the burner.

3. The flame of the burner is being regulated, the powerful ventilators are being turned on.

4. When the delegation arrived, the designer was sent for.

5. All the metal parts are cut automatically.

II. Перепишите следующие предложения; подчеркните Participle I и Participle II и установите функции каждого из них, т.е. укажите является ли оно определением, обстоятельством или частью сказуемого. Переведите предложения на русский
1. When heated a magnet loses its magnetism.

2. A molecule is a compound consisting of two or more atoms.

3. Oxygen is soluble in water becoming a liquid at about 180˚ C.

4. Some new properties of the polymer found during the experiments were quite unexpected.

III. Перепишите следующие предложения; подчеркните в каждом из них модальный глагол или его эквивалент. Переведите предложения на русский язык.

1. The planet Pluto is so far away that we cannot study it easily.

2. They ought to help their friend to solve this important problem.

3. Nobody was able to understand this mysterious phenomenon.

4. The solar batteries must heat and light homes.

VI. Прочитайте перепишите и письменно переведите на русский язык текст.

Information, Machine Words, Instructions,

Addresses and Reasonable Operations

1. Information a set of marks or signs that have meaning. These consist of letters or numbers, digits or characters, other kinds of signs, and so on. A computer reacts differently to different digits or characters, and reacts to them as units that have meaning. For example, information for an analog computer has to be in the form of distances, or rotations, or voltages, or other physical variables. And for a digital computer information has to be in the form of digits or numbers.

2. Any information may be represented by the binary system including two digits: one (1) and zero (0). Each 1 and 0 is a separate binary digit called a bit. A bit is the smallest part of information. Bits are typically grouped in units that are called bytes. A byte is the basic unit of information used in modern computers.


3. The bytes are handled usually in standard groups called machine words or just words. There are two basic types of information or words that can be put into a memory location: words that are numerical quantities and words that are computer instructions. Regularly, an instruction to the machine is expressed as a word; and so the same set of characters may have meaning sometimes as a number, sometimes as an instruction. A speed of 96.000 characters per second is the same as a speed of 8,000 words per second. Most human beings could not take even 12-digit number per second.

4. The computer is told what operations to perform by means of instructions. An instruction is a command to the computer. It consists of a verb (an operational code) and a noun (an operand). For example, if the computer is instructed “Add 365 the number of times stated in the register R”, and if the register R stores the code for number 3, then the computer will perform that operation three times. An instruction word looks like a number, and there is no way to tell from the word itself whether it is a quantity or an instruction. The computer must be told exactly which address contains an instruction and which contains a quantity.

5. An address is the name of particular memory location. Each memory location (word or byte) has its own unique address or number just like a post office box.

6. Reasonable operations are mathematical and logical. Mathematical operations include arithmetic and algebraic operations. Arithmetic operations are addition, subtraction, multiplication, division, taking a square root, etс.; and algebraic operations are called raising to a power as well as differentiating and integrating.

7. Logical operations include comparing selecting, sorting, matching, etc. These are operations which may be performed either on numbers, or on expressions consisted of letters such as ordinary words. A very important logical operation performed by a computer is determining, i.e., which of two operations is to be performed next.

Вариант 5
I. Перепишите следующие предложения; подчеркните в каждом из них глагол- сказуемое и определите его видо-временную форму и залог. Переведите предложения на русский язык. Переведите предложения на русский язык. Обратите внимание на перевод пассивных конструкций.

1. Barbara is measuring some liquid in the measuring-glass.

2. A system of space television has helped to televise programs directly to huge territories.

3. An interesting research is being done in our institute laboratory.

4. The huge automatic unit in the shop is looked after by only a few men.

5. The research into the properties of these metals was done at one of the Moscow institutes.

II. Перепишите следующие предложения; подчеркните Participle I и Participle II и установите функции каждого из них, т.е. укажите является ли оно определением, обстоятельством или частью сказуемого. Переведите предложения на русский
1. The signals were sent by a powerful transmitter.

2. Combining hydrogen with oxygen in the proportion of two atoms of hydrogen and one atom of oxygen we produce water.

3. When heated glass may be easily worked.

4. The solution is boiling.

III. Перепишите следующие предложения; подчеркните в каждом из них модальный глагол или его эквивалент. Переведите предложения на русский язык.

1. The engineer will have to improve the accuracy of this machine-tool.

2. He had to work hard before he was able to submit his paper to a scientific journal.

3. They could visit this new automation shop.

4. They were allowed to replace the old equipment.

VI. Прочитайте перепишите и письменно переведите на русский язык текст.

Programming Languages


How are directions to be expressed to the computer? The computer is not another human being with whom one can speak easily and clearly in common English. For expressing directions to a computer the programmer in practice uses special programming languages.


Because computers can accept letters and numbers, nearly all the programming languages express the directions in some combination of letters and numbers.


The programming languages in use fall into there general categories in terms of their similarity to ordinary English: machine languages, symbolic languages, and automatic coding languages. In terms of their importance for computer utilization, the machine languages are the most basic, for the computers can use them directly. But symbolic and automatic coding languages are more convenient for the programmer use because they are more similar to English.


Some programming languages are used only with a particular model of computer; some are used with more than one model of computer. For the convenience of the programmer, a language that can be used with several different models of computer is the more useful.


Instructions in a machine language are almost always represented by particular combinations of letter and numbers acceptable to a given computer. Programs written in an appropriate machine language can be directly accepted and used by a computer.


Symbolic languages use symbolic addresses in the operands and usually also as the addresses for the instructions. This is in contrast to machine languages, which use absolute addresses. An absolute address is one expressed in machine language. It identifies a specific and physical location of data in storage. An indirect address is an absolute or symbolic address which has as its contents the absolute address (usually) of the operand needed by the instruction. Indirect addresses allow greater flexibility in programming because the programmer by changing the contents of indirect addresses can, in effect, modify a program.


For data description in the symbolic languages, the programmer uses special commands. Being able to use these commands simplifies the process of data description, because often these commands can be used with symbolic addresses as their operands. Thus in many programming languages the programmer can assign addresses in symbolic, relative, or absolute form, depending upon the character of the language and what is most convenient for the programmer the time.

Контрольная работа № 3


Чтобы правильно выполнить работу 3, необходимо усвоить следующие разделы курса английского языка по рекомендованному учебнику:

1. Существительное в функции определения.
2. Грамматическая функции и значения слов that, one, it.

3. Пассивный залог (the Passive Voice) видо-временных форм Indefinite, Continuous, Perfect.
4. Функции глаголов to be, to have, to do.

Используйте образцы выполнения упражнений:
ОБРАЗЕЦ ВЫПОЛНЕНИЯ 1 (К упр.I)

Особенности перевода на русский язык английских имен существительных, употребляющихся в функции определения, стоящего перед определяемым словом.

2. The scientist works at some                           Этот ученый работает над неко-

problems of low temperature                             торыми проблемами физики 

physics.                                                               низких температур.
2. This girl studies at the Patris                          Эта девушка учится в универ-

Lumumba Friendship University.                     ситете Дружбы народов име-

                                                                            ни Патриса Лумумбы.
ОБРАЗЕЦ ВЫПОЛНЕНИЯ 2 (К упр.III)
Present Perfect Passive

The main question has already                               Главный вопрос уже обсудили.

been discussed.

Present Indefinite Passive

His scientific work is much                                     О его научной работе много
spoken about.                                                         говорят. 
ОБРАЗЕЦ ВЫПОЛНЕНИЯ 3 (К УПР. IV)

1. It is necessary to use the latest                       Необходимо использовать в
means of control in industry.                             промышленности новейшие

                                                                           средства контроля.

2. One should agree that that                             Следует согласиться, что этот

experiment was of great importance                  эксперимент имел большое зна-

for our research.                                                      чение для нашего исследования.

3. It is hydrogen that will be the main                    Именно водород будет основным
source of energy in the car of the                           источником энергии в автомоби-

future.                                                                      ле в будущем.

Вариант 1

I. Перепишите следующие предложения и переведите их, обращая внимание на особенности перевода на русский язык определений, выраженных именем существительным.

1. Our professor prefers new research methods.

2. They change the office telephone number.

3. My friend has three room apartment.

II. Перепишите следующие предложения, определите в каждом из них видо-временную форму и залог сказуемого. Переведите предложения на русский язык.

1. Sometimes a decision to compute is followed by a process of selecting the particular kind of computing machine best suited for the given problem.

2. Soon one will be able to get to Kronstadt by road as well as by sea.

3.May 7, 1895 has entered the history of science as the date of the invention of radio.

4. The builders are planning the road.

III. Перепишите следующие предложения и переведите их на русский язык, обращая внимание на разные значения слов it, that, one.

1. It is proved that light needs time to travel any distance.

2. One must take part in scientific work.

3. Specialists consider that in future city transport will reject gasoline.

IV. Перепишите следующие предложения и переведите их на русский язык, обращая внимание на разные значения глаголов to be, to do, to have.

1. You have to come to the language laboratory of the Institute to work at your pronunciation.

2. This material does not possess elastic properties.

3. Scientists had to create new materials foe industry.

4. The exam was to start in the morning.

V. Прочитайте перепишите и письменно переведите на русский язык текст.

The result was an ISO Standard with two levels: level 0 is essentially the Jensen and Wirth style of Pascal slightly tightened up, while level 1 adds conformant array arguments. The IEEE/ANSI Standard for Pascal, adopted shortly thereafter, is essentially the ISO Standard at level 0. For this reason, and because of their controversial form, conformant array arguments are still not in wide use and may never be.
Both Standards suffer less from this minor contention than from what was left out. Little is specified in either Standard about how the names of external files are associated with internal file variables; almost nothing is said about how parameters are obtained from a command line at program startup; only the barest machinery is suggested for supporting separate compilation and the construction of reusable Pascal libraries; and any number of extensions found to be useful or even necessary in commercial programming were not considered. Thus, it is a rare implementation that does not boast of significant extensions to Standard Pascal, unfortunately, in varying directions for similar capabilities.

Most of the strength of the ISO Standard comes from an extensive Pascal Validation Suite, first published by the University of Tasmania. This large collection of test programs probes the least-utilized aspects of its implementation and ferrets out deviations from the Standard both obvious and subtle.
Вариант 2

I. Перепишите следующие предложения и переведите их, обращая внимание на особенности перевода на русский язык определений, выраженных именем существительным.

1. Space research laboratories have modern equipment.

2. In our country many state supported public schools.

3. This workshop has high voltage transmission line design.

II. Перепишите следующие предложения, определите в каждом из них видо-временную форму и залог сказуемого. Переведите предложения на русский язык.

1. A lot of various organizations have taken part in the design of the flood defence complex.

2. The building of the road is being planned by the designers of our Institute.

3. Such solution will make the problem more difficult.

4. The speed with which arithmetic operations are performed is affected by a number of factors.

III. Перепишите следующие предложения и переведите их на русский язык, обращая внимание на разные значения слов it, that, one.

1. It is necessary to find new resources of cheap energy.

2. It was Einstein who came to the conclusion that the electromagnetic field is influenced by the gravitational field.

3. This metro station was opened last year and the one will be put into operation in two years.

IV. Перепишите следующие предложения и переведите их на русский язык, обращая внимание на разные значения глаголов to be, to do, to have.

1. Man had to learn to obtain electric power directly from the Sun.

2. At present most of the industrial enterprises have their own electric power stations.

3. Specialists do not use solar cells in industry as they are too expensive.

4. The engineers are to study the problem of using cosmic rays.

V. Прочитайте перепишите и письменно переведите на русский язык текст.

An interesting sidelight in this development was the introduction, by Western Digital, of a chip set that could execute P-code directly. While this implementation did indeed offer substantially enhanced performance, it was hampered by the less-than-ideal design of the P-code itself; and its acceptance was probably weakened by changes in the P-code specification in later versions of the UCSD P-system that became available after the hardware design was frozen. In the end, the Western Digital Pascal Microengine, built around this chip set, never really caught on.
Another important milestone in the spread of Pascal occurred in the early 1980s with the publication of an ISO Standard for the language. While the ISO Standard was, in many ways, just a simple edit of Jensen and Wirth, it did tighten up some parts of the language whose specification had proved to be vague. It also attempted to deal with an overly restrictive aspect of the language by introducing conformant array arguments; that is, arguments to functions or procedures that convey their range of valid subscripts, rather than requiring an exact match of all array attributes. The goal was to permit the expression of functions and procedures that could manipulate arbitrary length vectors, as is commonplace in Fortran, PL/I, and C, but the machinery introduced was sufficiently cumbersome to arouse controversy.

Вариант 3

I. Перепишите следующие предложения и переведите их, обращая внимание на особенности перевода на русский язык определений, выраженных именем существительным

1. The North Pole expedition made very important investigations.

2. All technical students have foreign language studies for two first years.

3. The Lenin Library has two million volumes.

II. Перепишите следующие предложения, определите в каждом из них видо-временную форму и залог сказуемого. Переведите предложения на русский язык.

1. The relationship between the computers and the people that use them has been given much attention.

2. Radio is playing an ever increasing role in our life.

3. In 1938 the first TV station came into being in Moscow but the war stopped the development of television.

4. There will be more new synthetic materials in future.

III. Перепишите следующие предложения и переведите их на русский язык, обращая внимание на разные значения слов it, that, one.

1. It is the number of electrons within the atom that determines the properties of a substance.

2. The territory of Moscow is larger than that of London.

3. In London one must get used to the left-side traffic.

IV. Перепишите следующие предложения и переведите их на русский язык, обращая внимание на разные значения глаголов to be, to do, to have.

1. Some substances do not conduct heat.

2. Our plant is to increase the output of consumer goods.]

3. Soon our industry will have new and cheap sources of energy.

4. These computers will have to perform millions of operations per second.

V. Прочитайте перепишите и письменно переведите на русский язык текст.

A significant new departure occurred in the late 1970s when Ken Bowles, at the University of California in San Diego, made available a dramatically reworked version suitable for operation on inexpensive PDP-11 and Z80computers that were just becoming available in quantity. This UCSD P-system was enthusiastically embraced by educators, was quickly moved to other microcomputers with the eager assistance of various hardware vendors, and was even touted for a time as an important vehicle for developing commercial software packages.
Commercial rights to the UCSD P-system were purchased in the early 1980s by Softech Microsystems, a subsidiary set up just for that purpose by the established software house Softech, Inc. Despite extensive enhancement of the original package, and aggressive promotion among microcomputer hardware vendors and software developers, Softech Microsystems never fully realized its early promise and faded quietly from the scene after a few years. Currently, the P-system has been largely displaced by a broad assortment of compilers whose native code output dramatically outperforms the best emulators for P-code.
Вариант 4

I. Перепишите следующие предложения и переведите их, обращая внимание на особенности перевода на русский язык определений, выраженных именем существительным

1. He likes to listen the twentieth century music.

2. The workers install the new transformer in this shop.

3. Moscow has very heavy city traffic.

II. Перепишите следующие предложения, определите в каждом из них видо-временную форму и залог сказуемого. Переведите предложения на русский язык.

1. Magnetic amplifiers have been employed for more than fifty years; transistors were first reported upon in 1948 – 1949.

2. There exist more compounds of hydrogen than of any other element.

3. Some powerful radio stations have recently been built in the northern regions.

4. The machine-tool will measure its production itself.

III. Перепишите следующие предложения и переведите их на русский язык, обращая внимание на разные значения слов it, that, one.

1. The success in chemistry made it possible to obtain a lot of new materials.

2. One must apply the material that can be machined easily.

3. It is the energy of falling water that is used to dive turbines.

IV. Перепишите следующие предложения и переведите их на русский язык, обращая внимание на разные значения глаголов to be, to do, to have.

1. The operators dealing with radioisotopes must have protective suits.

2. The engineers are to study the problem of using solar energy.

3. The chemical industry is one of the leading branches of our national economy.

4. Metals conduct electricity better than semiconductors do.

V. Прочитайте перепишите и письменно переведите на русский язык текст.

The original implementation of Pascal was on a CDC 6000-series mainframe, whose idiosyncrasies have colored the language in a number of unfortunate ways. Aside from this coloration, the implementation was intended to be highly able. Rather than develop a compiler that produced native machine code for the CDC, Wirth chose to have the original translator produce an artificial "machine language" called P-code, which is then interpretively executed by an emulator. Once the translator was rewritten in Pascal, and translated to P-code, moving the entire implementation to a new environment primarily consisted of rewriting the relatively small emulator portion of the package. 

Pascal spread in its early days by the migration of this package to various mainframes, primarily in computer science departments of major universities. To this day, the definitive reference for Pascal is still generally considered to be the Pascal User Manual and Report by Kathleen Jensen and Niklaus Wirth, which describes the original implementation.
Вариант 5

II. Перепишите следующие предложения и переведите их, обращая внимание на особенности перевода на русский язык определений, выраженных именем существительным

1. In our library there are many high quality textbooks.

2. The tram stop is three block of flats from here.

3. In this region there is the world’s largest iron ore deposits.

II. Перепишите следующие предложения, определите в каждом из них видо-временную форму и залог сказуемого. Переведите предложения на русский язык.

1. Much attention is being paid to the development of three-dimensional television.

2. Our specialists had workers out a new flexible line some month ago.

3. The tests were being carried out well.

4. Many graphics programs are controlled by a mouse or some other device.

III. Перепишите следующие предложения и переведите их на русский язык, обращая внимание на разные значения слов it, that, one.

1. It is necessary to obtain accurate data on the possibility of living and working in space.

2. The peoples know that their joint efforts can secure peace in the whole world.

3. We had to find new methods of investigation because the old ones were unsatisfactory.

IV. Перепишите следующие предложения и переведите их на русский язык, обращая внимание на разные значения глаголов to be, to do, to have.

1. A programme for the construction of new types of spaceships is to be carried out this year.

2. This device does help them a lot in their work.

3. We had to change the design of this machine.

4. The speed of electrons is almost the same as that of light.

V. Прочитайте перепишите и письменно переведите на русский язык текст.

Pascal is a procedural language, used for specifying all of the steps of a computation, and hence has a strong kinship to Algol, Fortran, PL/I, and C. Since its inception in the early 70s, Pascal has grown steadily in popularity, first among the academic community to which it was originally directed, but increasingly among commercial enterprises, which sees it as a vehicle for producing more reliable programs at lower cost. It is perhaps more widely used in Europe than in the United States, where it is being steadily displaced by growing use of the C language; but it is nevertheless a significant language for expressing programs around the world today. 

Pascal was designed and developed by Niklaus Wirth, one of the major figures in computer science for two decades. His stated intention was to produce a language eminently suited for teaching the fundamentals of computer programming to beginners, yet capable of reasonably efficient implementation on most modern computers. Since Pascal is now the language of choice for introductory computer programming courses, and since adequate to excellent implementations of Pascal are available on every popular computer, his success at achieving these goals is evident.
Контрольная работа № 4


Чтобы правильно выполнить работу 4, необходимо усвоить следующие разделы курса английского языка по рекомендованному учебнику:
5. Перевод неопределенных и отрицательных местоимений.

6. Бессоюзное подчинение в определительных и дополнительных придаточных предложениях.
7. Простые неличные формы глагола. Инфинитив в функции а) подлежащего, б) составной части сказуемого, в) определения, г) обстоятельства цели.
8. Особенности перевода объектного инфинитивного оборота и субъектного инфинитивного оборота.

Используйте образцы выполнения упражнений:

ОБРАЗЕЦ ВЫПОЛНЕНИЯ 1 (К упр. II)

1. What is the name of the book                              Как называется книга, которую
you are reading?                                                       ты читаешь?

2. The region we must explore                                Регион, который мы должны ис-

possesses great natural resources.                            следовать, обладает огромными

                                                                                  природными ресурсами.

ОБРАЗЕЦ ВЫПОЛНЕНИЯ 2 (К упр. III)

1. To operate the complex device


Управлять этим сложным меха-
Is rather difficult.





низмом довольно трудно. 










(подлежащее)

2. Our aim is to fulfill our work in 


Наша цель сосотоит в том , что-

time.







бы выполнить работу во время.










(часть сказуемого)

ОБРАЗЕЦ ВЫПОЛНЕНИЯ 3 (К упр. IV)
1. I want him to help me.                                   Я хочу, чтобы он помог мне.
2. He is said to know several                                  Говорят, что он знает несколько
languages.                                                           языков.
Вариант 1

I. Перепишите и переведите предложения на русский язык, обращая внимание на перевод неопределенных и отрицательных местоимений.

1. This element has some important properties.

2. The teacher’s assistant measures everything with great degree of accuracy.

3. She never says anything about her studies.

4. Every student is present at the lecture today.

II. Перепишите следующие предложения и переведите их на русский язык, обращая внимание на бессоюзное подчинение.

1. The methods we have just described are very effective.

2. The instruments our plant produces help to automate production process.

III. Перепишите следующие предложения и переведите их на русский язык, определите функцию инфинитива.

1. The Russian science was the first to make great contribution to the development of space technology.

2.In order to make interplanetary flights in the future it is necessary to know factors affecting the human organism.

3. The main purpose of the computers is to solve complex problems quickly.

IV. Перепишите и письменно переведите предложения на русский язык. Обратите внимание на правила перевода объектного и субъектного инфинитивного оборотов.

1. We found them to be interested in the problem. 

2. We consider Lomonosov to be the founder of the Russian literary language.

3. The capacity of this aggregate proves to be increasing during the experiment.

4. The discovery of a laser is sure to be of great value.

V. Прочитайте перепишите и письменно переведите на русский язык текст.

The 8088 is the 16-bit microprocessor that controls the standard IBM personal computers, including the original PC, the PC/XT, the Portable PC, and other PCjr. Almost every bit of data that enters or leaves the computer passes through the CPU to be processed.

Inside the 8088, 14 registers provide a working area for data transfer and processing. These internal registers, forming an area 28 bytes in size, are able to temporarily store data, memory addresses, instruction pointers and status and control flags. Through these registers, the 8088 can access 1 MB(megabyte), or more than one million bytes of memory. 

The 8086 is used in the PS/2 models 25 and 30 (and also in many IBM PC clones). The 8086 differs from the 8088 in only one minor respect: it uses a full 16-bit data bus instead of 8-bit bus that the 8088 uses. (The difference between 8-bit bus and 16-bit buses is discussed below). Virtually anything that you read about the 8086 also applies to the 8088; for programming purposes, consider them identical.

The 80286 is used in the PC/AT and in the PS/2 modules 50 and 60. Although fully compatible with the 8086, the 80286 supports extra programming features that let it execute programs much more quickly than the 8086. Perhaps the most impotent enhancement to the 80286 is its support for multitasking.

Вариант 2

I. Перепишите и переведите предложения на русский язык, обращая внимание на перевод неопределенных и отрицательных местоимений.

1. There is something in the tube.

2. No student uses these instruments.

3. Everybody is present at the lecture today.

4. Nobody puts water into the tube.

II. Перепишите следующие предложения и переведите их на русский язык, обращая внимание на бессоюзное подчинение.

1. The hostel our students live in is situated not far from the metro station.

2. I think he has made a mistake in his calculations.

III. Перепишите следующие предложения и переведите их на русский язык, определите функцию инфинитива.

1. To design new buildings is the work of an architect.

2. To measure volumes we must know the dimensions of a body.

3. Our plant was the first to install the automatic equipment.

IV. Перепишите и письменно переведите предложения на русский язык. Обратите внимание на правила перевода объектного и субъектного инфинитивного оборотов.

1. We know Kramskoy to be the inspirer and organizer of the Peredvizhniki movement. 2. He considered himself to be the happiest man when he became the winner of the competition.

3. The neutrons and protons of an atom are known to be linked together to form a compact nucleus.

4. The application of this device is unlikely to give better results.

V. Прочитайте перепишите и письменно переведите на русский язык текст.
Multitasking is the ability of CPU to perform several tasks at a time - such as printing a document and calculating a spreadsheet – by quickly switching its attention among the controlling programs.

The 8086 used in a PC or PC/XT can support multitasking with the help of sophisticated control software.However, an 80286 can do a much better job of multitasking because it executes programs more quickly and addresses much more memory than the 8088. Moreover, the 80286 was designed to prevent tasks from interfering with each other.

The 80286 can run in either of two operating modes: real mode or protected mode. In real mode, the 80286 is programmed exactly like an 8086. It can access the same 1 MB range of memory addresses as the 8086. In protected mode, however, the 80286 reserves a predetermined amount of memory for an executing program, preventing that memory from being used by any other program. This means that several programs can execute concurrently without the risk of one program accidentally changing the contents of another program’s memory area. An operating system using 80286 protected mode can allocate memory among several different tasks much more effectively than can an 8086-based operation system.

Вариант 3

I. Перепишите и переведите предложения на русский язык, обращая внимание на перевод неопределенных и отрицательных местоимений.

1. There is no difference between these two figures.

2. Do you give books to everybody?

3. Some 15 tables hang on the walls.

4. Is there a tube anywhere on the shelf?

II. Перепишите следующие предложения и переведите их на русский язык, обращая внимание на бессоюзное подчинение.

1. I think the drawing will be ready tomorrow.

2. Every substance a man comes in contact with consists of molecules.

III. Перепишите следующие предложения и переведите их на русский язык, определите функцию инфинитива.

1. They promised to supply us with the necessary equipment.

2. The experiment to be carried out is of great importance for our research.

3. To convert chemical energy into electrical energy we must use an electrical cell.

IV. Перепишите и письменно переведите предложения на русский язык. Обратите внимание на правила перевода объектного и субъектного инфинитивного оборотов.

1. We believe her to earn her own living herself. 

2. When I called on my friend I found him to have left for Leningrad.

3. These chemical changes appear to have been caused by heat.

4. Carbon steel has been known to be the principal product of the steel industry.
V. Прочитайте перепишите и письменно переведите на русский язык текст.
The Intel486™ processor added more parallel execution capability by (basically) expanding the Intel386™ processor's Instruction Decode and Execution Units into five pipelined stages, where each stage (when needed) operates in parallel with the others on up to five instructions in different stages of execution. Each stage can do its work on one instruction in one clock, and so the Intel486™ processor can execute as rapidly as one instruction per CPU clock. An 8-KByte on-chip L1 cache was added to the Intel486™ processor to greatly increase the percent of instructions that could execute at the scalar rate of one per clock: memory access instructions were now included if the operand was in the L1 cache. The Intel486™ processor also for the first time integrated the floating-point math unit onto the same chip as the CPU and added new pins, bits, and instructions to support more complex and powerful systems (L2 cache support and multiprocessor support). Late in the Intel486™ processor generation, Intel incorporated features designed to support energy savings and other system management capabilities into the IA mainstream with the Intel486™ SL Enhanced processors. These features were developed in the Intel386™ SL and Intel486™ SL processors, which were specialized for the rapidly growing battery-operated notebook PC market. The features include the new System Management Mode, triggered by its own dedicated interrupt pin, which allows complex system management features (such as power manage​ment of various subsystems within the PC), to be added to a system transparently to the main operating system and all applications. The Stop Clock and Auto Halt Powerdown features allow the CPU itself to execute at a reduced clock rate to save power, or to be shut down (with state preserved) to save even more power.
Вариант 4

I. Перепишите и переведите предложения на русский язык, обращая внимание на перевод неопределенных и отрицательных местоимений.

1. Somebody works in the laboratory every morning.

2. He says nothing about his tests.

3. He puts some water into the tube.

4. No tables hang on the walls.

II. Перепишите следующие предложения и переведите их на русский язык, обращая внимание на бессоюзное подчинение.

1. We know radio and radar systems play a very important role at every report.

2. The information science gets about other galaxies comes through radio telescopes.

III. Перепишите следующие предложения и переведите их на русский язык, определите функцию инфинитива.

1. The teacher to0ld her students to learn the poem by heart.

2. To translate a sentence is to discover its meaning.

3. The working people all over the world are uniting to fight the threat of a new war.

IV. Перепишите и письменно переведите предложения на русский язык. Обратите внимание на правила перевода объектного и субъектного инфинитивного оборотов.

1. We know Kramskoy to succeed in understanding and revealing the deep inner world of the poet. 

2. We saw the car stop at the door.

3. Many proteins were found to be mixtures of several chemical compounds.
4. These experiments are likely to have been made in suitable conditions.

V. Прочитайте перепишите и письменно переведите на русский язык текст.
The Intel Pentium ® processor added a second execution pipeline to achieve superscalar performance (two pipelines, known as u and v, together can execute two instructions per clock). The on-chip L1 cache has also been doubled, with 8 KBytes devoted to code, and another 8 KBytes devoted to data. The data cache uses the MESI protocol to support the more efficient write-back mode, as well as the write-through mode that is used-by the Intel486™ processor. Branch prediction with an on-chip branch table has been added to increase performance in looping constructs.
The Advanced Programmable Interrupt Controller (APIC) has been added to support and process systems.
The Pentium ® Pro processor provides Dynamic Execution (micro-data flow analysis, out-of-order execution, superior branch prediction, and speculative execution) in a superscalar implementation.The power of the Pentium ® Pro processor is further enhanced by its caches: it has the same two on-chip 8-KByte L1 caches as does the Pentium ® processor, and also has a 256-KByte L2 cache that is in the same package as, and closely coupled to, the CPU, using a dedicated 64-bit ("backside") full clock speed bus. The L1 caches dual-ported, the L2 cache supports up to 4 concurrent accesses, and the 64-bit external data bus is transaction-oriented. The Pentium ® Pro processor also has an expanded 36-bit address bus, giving a maximum physical address space of 64 GBytes.
The Pentium ® II processor added MMX™ instructions to the Pentium ® Pro processor architecture, incorporating the new slot 1 and slot 2 packaging techniques. The Pentium ® II processor has L2 cache sizes of 256 KBytes, 512 KBytes and 1 MByte or 2 MByte (slot 2 only). The slot 1 processor uses a "half clock speed" backside bus while the slot 2 processor uses a "full clock speed" backside bus. The Pentium ® II processors utilize multiple low-power states such as AutoHALT, Stop-Grant, Sleep, and Deep Sleep to conserve power during idle times.
Вариант 5

I. Перепишите и переведите предложения на русский язык, обращая внимание на перевод неопределенных и отрицательных местоимений.

1. My friends always go anywhere in summer.

2. Everyone makes experiments in the laboratories.

3. Somebody puts water into a tube.

4. Anybody has mass and weight.

II. Перепишите следующие предложения и переведите их на русский язык, обращая внимание на бессоюзное подчинение.

1. We know electricity produces heat.

2. The new materials the Russian chemists developed were used in space technology.

III. Перепишите следующие предложения и переведите их на русский язык, определите функцию инфинитива.
1. It is necessary for Russian specialist to know a foreign language.

2. Our idea was to design a new device for automatic control.

3. To increase the productivity of labour one must use the methods we have just described.

IV. Перепишите и письменно переведите предложения на русский язык. Обратите внимание на правила перевода объектного и субъектного инфинитивного оборотов.

1. We know him to have been an excellent portrait painter. 

2. We knew the report to have consisted of two parts. 

3 Light and radio waves are said to be of similar nature.

4. The laser beam seems to have almost unlimited industrial possibilities.

V. Прочитайте перепишите и письменно переведите на русский язык текст.

THE MATH COPROCESSOR

The 8086, 80286, and 80386 can work only with integers. To perform floating-point computations on an 8086-family microprocessor, you must represent floating-point values in memory and manipulate them using only integer operations. During compilation, the language translator represents each floating-point computation as a long, slow series of integer operations. Thus, “number-crunching” programs can run very slowly – a problem if you have a large number of calculations to perform.

A good solution to this problem is to use a separate math coprocessor that performs floating-point calculations. Each of the 8086-family microprocessors has an accompanying math cooprocessor: the 8087 math coprocessor is used with an 8086 or 8088; the 80287 math coprocessor is used with an 80286; and the 80387 math coprocessor is used with an 80386. (See Figure below). Each PC and PS/2 is building with an empty socket on its motherboard into which you can plug a math coprocessor chip.

From a programmer’s point of view, the 8087, 80287, and 80387 math coprocessors are fundamentally the same: they all perform arithmetic with a higher degree of precision and with much greater speed than is usually achieved with integer software emulation. In particular, programs that use math coprocessors to perform trigonometric and logarithmic operations can run up to 10 times faster than their counter-parts that use integer emulation.

Programming these math coprocessors in assembly language can be an exacting process. Most programmers rely on high-level language translators or commercial subroutine libraries when they write programs to run with the math coprocessors. The techniques of programming the math coprocessors directly are too specialized to cover in this book.

Форма промежуточного контроля  

Оценка письменных грамматических работ обучающихся
Ответ оценивается отметкой «5», если:

1. все упражнения выполнены полностью;

2. студент ориентируется в грамматическом материале, способен исправить допущенную ошибку.

Отметка «4» ставится в следующих случаях:

1. упражнения выполнены полностью, но были допущены несколько ошибок (не более 3-4), но студент смог их исправить самостоятельно во время проверки;

2. допущены одна- две ошибки, но студент их исправить только при указании на них преподавателем. 

Отметка «3» ставится, если:

1. упражнения выполнены полностью, но допущено несколько ошибок (до 6), которые студент смог исправить только при указании на них преподавателем во время проверки;

2. упражнения выполнены полностью, но допущено несколько ошибок (до 6), которые студент не мог исправить самостоятельно во время проверки задания, но обладает обязательными умениями по проверяемой теме.

Отметка «2» ставится, если:

1. допущены существенные ошибки, показавшие, что студент не обладает обязательными умениями по данной теме в полной мере.

2. упражнения не выполнены.

Оценка устных ответов обучающихся

Ответ оценивается отметкой «5», если студент:

1. при проверке контрольного чтения и перевода текста не допустил ошибок и показал отличные знания лексики и грамматики по изучаемой теме;

2. при сообщении по теме (пересказе текста) не допустил ошибок; высказывание было построено логически. тема раскрыта полностью;

3. отвечал самостоятельно, без наводящих вопросов преподавателя;

Ответ оценивается отметкой «4», если удовлетворяет в основном требованиям на оценку «5», но при этом имеет некоторые из недостатков:

1. при контрольном чтении и переводе текста допущены ошибки, как в произношении, так в лексических значениях английских слов и предложений;

2. в изложении темы допущены небольшие ошибки, как грамматического, так и лексического порядка;

3. при сообщении по теме (пересказе текста) высказывание построено не совсем логически, тема раскрыта не полностью.

Отметка «3» ставится в следующих случаях:

1. при контрольном чтении и переводе текста допущено много ошибок, и в произношении, и в лексических значениях английских слов и предложений;

2. при сообщении по теме (пересказе текста) неполно раскрыто содержание, допущено большое количество грамматических ошибок, тема раскрыта не полностью.

Отметка «2» ставится в следующих случаях:

1. при проверке контрольного чтения и переводе текста допущено огромное количество ошибок, как в произношении, так в лексических значениях английских слов и предложений;

2. не готов к контрольному чтению и переводу текста;

3. при пересказе текста отсутствует логическое построение, студент путается в знании лексического и грамматического материала, вследствии чего допускает большое количество ошибок; тема не раскрыта;

4. обнаружено незнание обучающимся большей или наиболее важной части учебного материала;

Общая классификация ошибок

При оценке знаний и умений учащихся учитываются все ошибки (грубые и негрубые) и недочёты.

Грубыми считаются ошибки:

1. незнание определения основных грамматических понятий и правил;

2. незнание лексического материала;

3. неумение применять на практике грамматические правила;

4. невыполнение письменных заданий;

5. неумение применять знания лексического материала в устной и письменной речи;

6. неумение логически построить пересказ текста;

7. неумение читать английский текст;

8. неумение пользоваться первоисточниками, учебником и справочниками-словарями;

К негрубым ошибкам относятся:

1. неточность формулировок основных грамматических понятий и правил;

2. слабое знание лексического материала;

3. неточный перевод английского предложений;

4. неверное прочтений английских слов;

5. нерациональные методы работы со справочной и другой литературой;

6. неумение применять знания грамматики на практике;

7. неполное выполнение письменных и устных заданий;

8. неполное раскрытие темы при пересказе текста.

Недочетами являются:

1. небрежное выполнение записей, упражнений, переводов.

После изучения каждой устной темы, чтения и перевода текста по специальности, студенты должны выучить и сдать лексический материал по теме, сделать контрольное чтение и перевод изучаемого текста, а так же сделать сообщение по теме (пересказ).

Студенты, сдавшие чтение, перевод, пересказ текстов и написавшие все контрольные работы, допускаются к сдаче зачетов и экзамена. В конце 1,2,3 семестров студенты сдают зачет, а в конце 4 семестра – экзамен. 

Зачет получает студент на основании его текущей успеваемости, успешного написания контрольных работ по грамматическим темам, сдачи контрольного чтения, перевода и пересказа изучаемых текстов по специальности. На зачете студент сдает тот грамматический и лексический материал, читает, переводит и пересказывает тексты, которые не подготовил по каким-либо причинам на занятиях в течение семестра.

К экзамену студент допускается после того, как получит все предусмотренные программой зачеты.

Экзамен по иностранному языку проводится в устной и письменной форме. Экзаменационный билет включает 3 вопроса. Один вопрос выполняется в письменной форме, два других – в устной. 

Экзамен проводится по экзаменационным билетам. Экзаменационный материал подбирается преподавателем вуза и утверждается на расширенном заседании кафедры.

На экзамен студент должен:
1) Прочитать и перевести, пользуясь словарем, текст по специальности по широкому профилю вуза. 

Форма проверки понимания: письменный перевод всего текста.

2) Прочитать без словаря текст по специальности или по общему профилю вуза, содержащий базовый лексический минимум, и кратко изложить его содержание. 

Зачет

Перечень примерных вопросов для подготовки к зачету.
THE MICROPROCESSOR
In all PCs, the microprocessor is the chip that runs programs. The microprocessor, or central processing unit (CPU), carries out a variety of computations, numeric comparisons, and data transfers in response to programs stored in memory.

The CPU controls the computer’s basic operation by sending and receiving control signals, memory addresses, and data from one part of the computer to another along a group of interconnecting electronic pathways called a bus.Located along the bus are input and output (I/O) ports that connect the various memory and support chips to the bus. Data passes through these I/O ports while it travels to and from the CPU and the other parts of the computer.

We’ll point out the similarities and differences between the different microprocessors as we describe them.
Упражнение 1. Используйте артикли a, an, the в предложениях, если нужно: 

1. Yesterday I saw ... new film, but ... film wasn't very interesting. 2. ... London is situated on ... Thames. 3. … Yuri Gagarin was ... first man to fly over ... Earth in spaceship. 4. My daughter will go school ... next year. 5. ... United States of America is one of ... most powerful countries of ... world. 6. Is your dress made of ... silk or ... cotton?
Упражнение 2. Напишите следующие предложения во множественном числе. Обратите внимание на глаголы to be и to  have: 
1. A new house is in our street. 2. This story is very interesting. 3. There was a woman, a man, a boy and a girl in the room. 4. In the farm-yard we can see an ox, a sheep, a cow and a goose. 5. Is this girl your sister? 6. Is this a good program? 7. That house is new.
Экзамен
Перечень примерных вопросов для подготовки к экзамену.

Форма экзаменационного билета
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	1.
	Read and translate the text 1a.

	2.
	Read and reproduce the text 1b.

	3.
	Speak on the topiс.

	Билет составила ____________Е.Г. Поликанова

 «_____» ____________   2012 г.


	Утверждаю:

Зав. кафедрой ин. языков _______   С. Е. Каплина
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Exam question 1a

MEMORY OPERANDS

Instructions with explicit operands in memory must reference the segment containing the operand and the offset from the beginning of the segment to the operand. Segments are specified using a segment-override prefix, which is a byte placed at the beginning of an instruc​tion, if no segment is specified, simple rules assign the segment by default. The offset is specified in one of the following ways:
1. Most instructions which access memory contain a byte for specifying the addressing method of the operand. The byte, called the mod R/M byte, comes after the opcode and specifies whether the operand is in a regis​ter or in memory. If the operand is in memory, the address is calculated from a segment register and any of the following values: a base register, an index register, a scaling factor, and a displacement. When an index register is used, the modR/M byte also is fol​lowed by another byte to specify the index register and scaling factor. This form of addressing is the most flexible.
2. A few instructions select segments by default:

A MOV instruction with the AL or EAX register as either source or destination can address memory with a double-word encoded in the instruction. This special form of the MOV instruction allows no base register, index register, or scaling factor to be used. This form is one byte shorter than the general-purpose form.

   String operations address memory in the DS segment using the ESI register, (the MOVS, CMPS, OUTS, LODS, and SCAS instructions) or using the ES segment and EDI register (the MOVS, CMPS, INS, and STOS instructions).

Stack operations address memory in the SS segment using the ESP register (the PUSH, POP, PUSHA, PUSHAD, POPA, POPAD, PUSHF, PUSHFD, POPF, POPFD. CALL. RET, IRET, and IRETD instructions, exceptions, and inter​rupts).
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